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5mm| 407 207 141 110 92 82 75 72 71 7.2+ 10mm
(3) ( o B S 9
2541 2.K .52
Mp=ms 7 2 2 2 .2
S -sn“y+2-K-S (1+cos y)+K -9n® y
(12.3.1-5)

12.3.1-3
12.3.1-3



m, mg Mp(mm) Y ;*ﬁﬁ
10°  20° 30° 40° 50° 60° 70° 80° 90° 100° ---170°
(mm) (@) (mm)
S(m)
500 3.4 3.3 31 30 2.8 2.7 2.6 2.5 2.6 2.6
+2 +1.8 700 4.4 4.1 3.8 3.4 3.1 2.9 2.7 2.7 %t #Ry 3
1000 6.0 5.2 4.4 3.8 3.4 3.1 2.9 2.8 2.7
500 4.7 4.6 4.5 4.3 4.4 4.0 3.9 3.8 3.8
+3 +2.5 700 6.2 5.9 54 50 4.6 4.3 4.2 4.0 4.0 St BR] 45
1000 8.4 7.4 6.4 5.6 5.0 4.6 4.3 4.2 4.1
500 9.1 8.8 83 7.8 7.3 7.0 6.7 6.6 6.5
700 12.1 11.0 9.9 8.9 81 7.5 7.1 6.9 6.8
+5 +5.0 %t #| +10
1000 16.2 13.7 11.4 9.7 8 7.8 7 7.0
1200 18.7 15.0 12.1 10.0 8 7.9 7 7.1 0
12.3.2
a
rnS: "
P (12.3.16)
1232 S Mg (12.3.1)
+ 1.0x 500/206265=+ 2.4mm
+ 1.8x 600/206265=+ 5mm
+ 2.5x 800/206265=+ 9.7mm
3mm 5mm  10mm
b.
12.35 20mm
30
12.3.6 3°
12.3.7
12.4
(SDJZ336—89)
13
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26
1311

13.1.2

13.1.3
13.14

13.2

1321

13.2.2

13.2.3

13.3

133.1

13.3.3

134

13.4.4

135

1334

(

(SD184—86)
)

(79)

(ZBA75002—89)



